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A SEEHY MIRS
60,000& = 8% « 13 480
SAAY FA S|
8,000& = 5% = 80¥ 3,200
SALHFIGR =2 S|
8,000& = 5% = 80¢ 3,200
29| 80,662 72,702 7,960
I3 2,400,000& = 12& 28,800
=R 280,000& * 123 3,360
SEURS 1,737
sis# 2,180 = 3500 » 123 916
2S*E 380& = 1800H = 12& 821
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A EAA
Ha: ¥HSYAH(2AL)
& 123l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 22 A UHl E8= 240,000 * 229 5,280
o SLIANDHAEEZ 100,000 * 13| 100
o AgorMzte] 3l 100,000& * 13l 100
o B2AA AR 22/(154 0|dt)
3,570,000 = 10024 3,570
o Mt MEE RRNES
100,000& * 12& 1,200
o DIt o ZFHl =l 300,000& = 10CH 3,000
o ZEXY 7 385,000& = 11CH 4,235
o UEIY SFH(HLSR)
1,400& = 400L » 128 6,720
o TENY RIH(ER)
1,300& = 600L » 128 9,360
o TAIMA 23 1,100,000& * 12& 13,200
202 O4Hl 72,000 72,000 0
02 FHOHI 72,000 72,000 0
o EHXNA, &AzA 200,0008 * 30E + 128 72,000
203 R =&l 14,260 14,440 A 180
02 AP R =& 4,420 4,480 A B0
o @ AIIEE ZFH
(40,000& * 1009 ) + (30,000& =* 14%) 4,420
04 FN2ELRZ=TH| 9,840 9,960 A 120
< 309 =t
(400,000& + (5,000& * 84H)) * 12€ 9,840
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